



Delhi Technological University
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(CHEMISTRY), I-SEMESTER

Result Declaration Date : 19-Feb-2026

Notification No: 1937

| IMSHU107n : Managerial Economics | | | | | | |
|----------------------------------|--------------|-----------------|-----------|------|----|----------------|
| Sr.No | Roll No. | Name of Student | IMSHU107n | SGPA | TC | Failed Courses |
| | | | 4.00 | | | |
| 1 | 24/IMSCHE/19 | SHUBHI GOYAL | A | 6.69 | 22 | IMSMA107 |

| IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSHU107n : Managerial Economics ISECAC101n : Laboratory Practices and Chemical Safety IVAC16n : Professional Ethics & Human Values | | | | | | | | | | | | |
|--|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|---------|------|----|----------------|
| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSHU107n | ISECAC101n | IVAC16n | SGPA | TC | Failed Courses |
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 2 | 25/IMSCHE/01 | AARYA | A+ | A | A | A+ | B+ | A+ | A | 8.18 | 22 | |

| IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSMA107n : Mathematics-I ISECAC101n : Laboratory Practices and Chemical Safety IVAC16n : Professional Ethics & Human Values | | | | | | | | | | | | |
|---|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|---------|------|----|----------------|
| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSMA107n | ISECAC101n | IVAC16n | SGPA | TC | Failed Courses |
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 3 | 25/IMSCHE/02 | ABHINAV KUMAR | A | B | B+ | A | F | B | B+ | 5.73 | 18 | IMSMA107n |
| 4 | 25/IMSCHE/22 | PULKIT MISHRA | B+ | A | B+ | A+ | A | C | B+ | 7.55 | 22 | |

| IAEC19n : Technical Communication IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSBT107n : Current Topics in Biotechnology ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence | | | | | | | | | | | | |
|--|----------|-----------------|---------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| Sr.No | Roll No. | Name of Student | IAEC19n | IMSAC101n | IMSAC103n | IMSAC105n | IMSBT107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Delhi Technological University
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(CHEMISTRY), I-SEMESTER

Result Declaration Date : 19-Feb-2026

Notification No: 1937

| | | | | | | | | | | | | |
|---|--------------|--------------------|---|---|----|----|----|----|----|------|----|--|
| 5 | 25/IMSCHE/03 | ABHYUNA SISODIA | A | O | A+ | A+ | A+ | B+ | A+ | 8.91 | 22 | |
|---|--------------|--------------------|---|---|----|----|----|----|----|------|----|--|

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSMA107n : Mathematics-I ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSMA107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|-------------------|--------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 6 | 25/IMSCHE/04 | AMRITA PRADEEP | A+ | A | A | A+ | B+ | A+ | A+ | 8.27 | 22 | |
| 7 | 25/IMSCHE/08 | ASHIKA | A | B+ | A | A+ | A | B+ | A+ | 8.00 | 22 | |

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSBT107n : Current Topics in Biotechnology ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSBT107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|--------|------|----|------------------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 8 | 25/IMSCHE/05 | ANANYA PRAMANIK | O | B | B+ | A | A | A+ | O | 7.91 | 22 | |
| 9 | 25/IMSCHE/10 | BHAGYA | B | A | A | A+ | A | A | A | 8.00 | 22 | |
| 10 | 25/IMSCHE/11 | BHOOMI | A | A | A+ | O | A+ | O | A | 8.91 | 22 | |
| 11 | 25/IMSCHE/13 | ESHA SAINI | A+ | F | F | A | B | A+ | A | 4.91 | 14 | IMSAC103n IMSAC101n |
| 12 | 25/IMSCHE/15 | KASHISH SHARMA | B+ | O | A+ | O | A+ | O | A | 9.18 | 22 | |
| 13 | 25/IMSCHE/21 | PRIYANSHI VERMA | B+ | B+ | A | A | A+ | A+ | B+ | 7.91 | 22 | |
| 14 | 25/IMSCHE/24 | SAKSHI | B+ | A+ | A+ | A+ | A+ | B+ | A | 8.55 | 22 | |
| 15 | 25/IMSCHE/26 | SONAL GANDHI | A | A | O | A+ | A+ | A+ | A+ | 8.91 | 22 | |
| 16 | 25/IMSCHE/27 | SRISHTI RAJ | B+ | B | A | A+ | A | A+ | A | 7.82 | 22 | |

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Delhi Technological University
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(CHEMISTRY), I-SEMESTER

Result Declaration Date : 19-Feb-2026

Notification No: 1937

| | | | | | | | | | | | | |
|----|--------------|-------------------|----|----|---|----|----|----|----|------|----|-----------|
| 17 | 25/IMSCHE/31 | YOGITA JOSHI | B+ | B | A | A+ | B+ | B | B+ | 7.27 | 22 | |
| 18 | 25/IMSCHE/32 | ABHISHEK BANERJEE | C | C | B | B+ | C | P | F | 5.00 | 20 | IVAC5n |
| 19 | 25/IMSCHE/33 | SHREYA DOGRA | B | C | F | A | B+ | C | B+ | 5.27 | 18 | IMSAC103n |
| 20 | 25/IMSCHE/34 | NANDINI SHARMA | A | B | B | A | A+ | A+ | A | 7.55 | 22 | |
| 21 | 25/IMSCHE/35 | ARSHIYA GUPTA | B+ | B+ | B | A | B | A+ | B+ | 7.00 | 22 | |

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSBT107n : Current Topics in Biotechnology ISECAC101n : Laboratory Practices and Chemical Safety IVAC16n : Professional Ethics & Human Values

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSBT107n | ISECAC101n | IVAC16n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|---------|------|----|------------------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 22 | 25/IMSCHE/06 | ANJALI | B+ | B+ | B | A+ | A | A+ | A | 7.64 | 22 | |
| 23 | 25/IMSCHE/07 | ARNAV | B | F | F | A | B | B | B+ | 4.27 | 14 | IMSAC103n IMSAC101n |
| 24 | 25/IMSCHE/28 | SRISHTI THAKUR | B+ | B | A | A | B+ | A+ | A | 7.45 | 22 | |
| 25 | 25/IMSCHE/29 | TITHI | B | B+ | B+ | A | B+ | P | B+ | 6.82 | 22 | |

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSPH107n : Physics - I ISECAC101n : Laboratory Practices and Chemical Safety IVAC16n : Professional Ethics & Human Values

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSPH107n | ISECAC101n | IVAC16n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|---------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 26 | 25/IMSCHE/09 | AYUSH BOUDH | B | B | F | A | B+ | A | A | 5.82 | 18 | IMSAC103n |

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Delhi Technological University
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(CHEMISTRY), I-SEMESTER

Result Declaration Date : 19-Feb-2026

Notification No: 1937

IAEC19n : Technical Communication IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSPH107n : Physics - I ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

| Sr.No | Roll No. | Name of Student | IAEC19n | IMSAC101n | IMSAC103n | IMSAC105n | IMSPH107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|------------------|---------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 27 | 25/IMSCHE/12 | DEV TEWARI | B | C | F | B+ | C | C | B | 4.64 | 18 | IMSAC103n |
| 28 | 25/IMSCHE/25 | SHREYANSH TIWARI | B+ | B | A | A | A | C | C | 7.00 | 22 | |

IAEC19n : Technical Communication IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSHU107n : Managerial Economics ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

| Sr.No | Roll No. | Name of Student | IAEC19n | IMSAC101n | IMSAC103n | IMSAC105n | IMSHU107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|---------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 29 | 25/IMSCHE/14 | HANSIKA | A | B+ | B+ | A+ | A | A+ | A | 7.91 | 22 | |

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSHU107n : Managerial Economics ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSHU107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 30 | 25/IMSCHE/16 | KHUSHI | B | F | B | A | B+ | A | B+ | 5.73 | 18 | IMSAC101n |
| 31 | 25/IMSCHE/17 | NANDINI YADAV | B+ | B+ | A | A | B+ | A+ | A+ | 7.73 | 22 | |

IAEC5n : Communication Skills IMSAC101n : Inorganic Chemistry 1 IMSAC103n : Organic Chemistry 1 IMSAC105n : Physical Chemistry 1 IMSPH107n : Physics - I ISECAC101n : Laboratory Practices and Chemical Safety IVAC5n : Emotional Intelligence

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



Delhi Technological University
(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN NOV 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(CHEMISTRY), I-SEMESTER

Result Declaration Date : 19-Feb-2026

Notification No: 1937

| Sr.No | Roll No. | Name of Student | IAEC5n | IMSAC101n | IMSAC103n | IMSAC105n | IMSPH107n | ISECAC101n | IVAC5n | SGPA | TC | Failed Courses |
|-------|--------------|-----------------|--------|-----------|-----------|-----------|-----------|------------|--------|------|----|----------------|
| | | | 2.00 | 4.00 | 4.00 | 4.00 | 4.00 | 2.00 | 2.00 | | | |
| 32 | 25/IMSCHE/20 | PRIYA SHUKLA | A | A+ | O | O | O | A+ | A | 9.36 | 22 | |

OIC (Results)

Controller of Examination

Note:Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.